Tagvounon

AOTA OVOUATWV



Tagvounon

| =['John Lennon’, 'Albert Einstein’, 'Steve Jobs', 'John
Kennedy', 'Mata Hari', 'Marie Curie’].

e Tacivopnon pe Baon pia oxeon olaTagNG
e 2XEON OIATAENC:

e AlGTOEN QPIBUWV

e N\eEIKOYPAPIKN

e AN\N OlATAEN TTOL BEWPOVUE



Tacivounon

NAECIKOYPADIKN

e ‘a'<'b’: True
e ‘'Aa’'<'Ba’; True

e ‘Aac’'<'Aab’: False



Tacivounon

NAECIKOYPADIKN

AAyOpIBuOC Python yia tagivopunon Aiotac aplBpwy

def selection sort(L):
"""Reorder the values in L from smallest to largest."""

1 =0
while 1 != len(L):
smallest = find min(L, 1)
L[1], L[smallest] = L[smallest], L[1]

i=1+1

MeTaBoAr yia va epappooTei o€ string

def find min(L, b): <
"""Return the index of the smallest value in L[b:].



Tacivounon
NAECIKOYPADIKN
ANYOpIBuOC Python yia tagivounon Aiotag strings

def selection sort(L):
"""Reorder the values in L from smallest to largest.

def find min(L, b): <« MeTaoAN yla va epappooTel og string
"""Return the index of the smallest value in L[b:].

smallest = b # The index of the smallest so far.

i=Db+1
while i != len(L):
if L[i] < L[smallest]: EAeyxog dlataénc
# We found a smaller item at L[i].
smallest = 1

return smallest



Tacivounon

AN olaTaen

* Tuple (x,y), X,y apBuoi

* Mia didTagn mou PmopoLUE va OPICOLUE eival;
(x1,y1) ukpdTEPO TOL (X2,¥2) AV [x1|+|y1|<[x2|+|y2]

* L=[(1,2),(0,1),(-1,2),(3,0),(4,-1)]



Tacivounon
AN olaTaen
AAYOpIBuOC Python yia tagivounon Aiotag tuples

def selection sort(L):
"""Reorder the values in L from smallest to largest.

def find min(L, b): < MeTaBoAN yia va epappuooTei oe AAAN OIATAEN
"""Return the index of the smallest value in L[b:].

smallest = b # The index of the smallest so far.

i=Db+1
while i != len(L):
if my less(L[i],L[smallest]): < EAeyxog dlataénc
# We found a smaller item at L[i].
smallest = 1

return smallest



Tacivounon
AN olaTaen
AAyOPIBpOC Python yia ta&ivounon Aiotag tuples

def selection sort(L):
"""Reorder the values in L from smallest to largest."""

def find min(L, b): MeTaBOAN yia va epapuooTei oe AAAN dlAatagn
"""Return the index of the smallest value in L[b:]."""

smallest = b # The index of the smallest so far.

i=Db+1
while i != len(L):
if my less(L[i],L[smallest]): < EAeyxog dlataénc

# We found a smaller item at L[i].
smallest = i
i=1+1
return smallest
def my less(a,b):
x=abs(a[0])t+tabs(a[l])
y=abs(b[0])+abs(b[1])
return x<y < Emotpedel True n False




Tacivounon

AN olaTaen

* QEAOLUE VA TAEIVOUNOOLUE EVA AEEIKO d, UE KAEIOI
ovopaTa katl pe Tipee ‘Gold’, ‘Silver’, ‘Bronze’

e [1.X.

d={'Mike':'Gold', 'John':'Silver', 'Harris':'Gold', 'Jenifer':'Bronze'}

* TO AEEIKO OeV LTTAPXEL N EVVOLa TNC OLATAENC.

* AUTO TTOU UTTOPOULPE VA TIAPOULUE ElvVAL pla AMOTA PE
TACIVOPNUEVA OTOIXEIQ TOU AEEIKOU.



Tagvounon

 H evtoAn d.keys() kat d.values() divouv 600 AOTEC
JE TIC AVTIOTOIXEC TIUEC.

* Ol ANiOTEC EXOLV OTOIXEIQ UE AVTIOTOIXEC TIHEC,
ONAQON TO oTOoIXEio 0TN B€oN | ToL d.keys() Exel TN
OTO AeclkO d autn mou BpiokeTtalt oto d.values() otn
Beon |.

e TACIVOPWVTAC POVO TN pla armo TIC AioTec xavoupe
TNV TAPATAVW AVTIOTOIXIA.



Tagvounon

e 2TO TTAPATTAVW AEEIKO EXOLUE
ist(d.values())=['Gold’, 'Gold’, 'Silver’, '‘Bronze’,
'Silver']

* H evtoAn sorted() Tagivopei pia Aiota
sorted(d.values())=['Bronze’, 'Gold’, 'Gold’, 'Silver’, ‘Silver']

[TAE0V TO OoTOIXEIO ‘Bronze’ dev eival Tiur Tou OTOIXEIOL OTN
Beon O touv d.keys().
[apatripnon: H d.values() dev exel ToommomnoinNoel




Tagvounon

e O TIpEC TOL Ae€IKOL eival ‘Gold’, ‘Silver’, * Bronze’

* O¢clovpe n dladTacn va yivel pe ™ oepd ‘Bronze’,
'Silver’, ‘Gold’



Tagvounon

* AC Bewpnooupe yia TTAPAOEIYUA TWPA EVA AEEIKO UE
TIHEC APIBPOLC

d={'Mike':111, 'John':222, 'Harris':555, 'Jennifer':44}

* ENOLUE VO ONUIOLPYNOOULUE Pl AloTA UE
TACIVOUNUEVOUC TOUC APIBUIOVC TTOU €ival Ol TIUEC TOU
d, aA\G KAl Ta KAEIOIA (Keys) va BpiokovTal oTIC
QVTIOTOIXEC BEOEIC.



Tacivounon

AECIKOU
AAyOpIBLOC Python yia Tagivopunon AeEIKOU pe aplBponc

def selection sort(d):
"""Create two lists, the values in d from smallest to largest."""

1 = 0;Ll1=1list(d.keys());L2=1list(d.values());

while 1 != len(L2):
smallest = find min(L2, 1)
L2[1i], L2[smallest] = L2[smallest], L2[1i]
L1[i], Ll[smallest] = Ll[smallest], L1[i]
i=1+1

return L1,L2

H cuvapTtnon mou Bewpnoape otn TagEvOuNon AIOTAG APIBUWY

def find min(L, b): <«—
"""Return the index of the smallest value in L[b:].



Tacivounon
AN olaTaen
AAYOpIBLOC Python yia Tagivopunon AEEIKOD PE TIMEC string

def selection sort(d): «— TAEVOUNON AEEIKOL CLPGWVA PE TOV TIDONYOLUEVO TTDOBANUA
"""Create two lists, the values in d from smallest to largest."""

def find min(L, b): < MeTaoAn yia va epappooTei oe GAN dlAataén
"""Return the index of the “smallest” value in L[b:]."""

smallest = b # The index of the smallest so far.

i=Db+1
while i != len(L):
if my less(L[i],L[smallest]): <« EAeyxocg dlatagne

# We found a smaller item at L[i].
smallest = i
i=1+1
return smallest
def my less(a,b):
if a==‘’Bronze’:
return True
elif a==‘Silver’ and b==‘Gold’:
return True
else

return False < Emotpédel True r) False




